otes: Function or Not a Function????

Determine which of the relations below are functions. Circle the correct answer.

Sets of Coordinates:

or Not a Function

1 {(=2,7), (=1, 5), (0. 3). (1, 1.@ 1)}

(=7, 20). (3:5). (0, 5). (=2, 0). (6, -4). (=6, ~9). (4, 4)}
3){4.8), (=3, -2), 9, 6).@1). (=4, ~51(2)). (=8. 0} Function or@ot a Function)
Tabl_ﬂqlf Values: _\L .

g LX 1y e - T')j';’ R el
0 |-19 -5 | 8~ ® -2 | -7
1 [=12 L 4"2 5
2 | -4 -11 -2 o |-16
4 13 3 11 2 5
5 27 5|23
or Not a Function or Not a Function Function or@ot a Function
‘L\ v
Graphs:
7) 4
° °
r
-i '-'2 Ll Ll é ‘ri
- °
°
=4 (‘-]/'2) -4

or Not a Function : < Functioa or Not a Function Function or{ﬁot a Function
\W

Mapping Diagrams:

10)

5\ )’0
7/§ 1
s 1N\
ﬂ) { e R
r Not a Function




More Notes: Representing Relations

Express the relation as a table, a graph, and a mapping. Then determine the domain and ran
each relation is a function.

13){(—1' "1), (1- 1), (2' 5)0 (3t 2)}

3
x | v :
-l —| 2
l l :.15. L 7 2 4
2 S 5
32
Ei

Domain: __ l) ?'1 3 Range: -lJ l) Z, g Function?_xg)
X eor | or ouJ‘Fb*’J

Homeworlr Function or Not a Fufction???
Determine which of the relations below are functions. Circle the correct answer.

1) {(1.-2), (-2, 0), (-1, 2), (1, 3)} Function or Not a Function

2) {(1,1).(2,2),(3.5),(4, 10), (5, 15)} Function or Not a Function

3) {(17 .1.2) [% ] [15 Z] (_ 15)} Function or Not a Function

x | y5 T s ) L
-5 5 -5 -2 -5 -2
x| A -4 | 4 A -1
-3 0 -3 0 -3 0
-4 1 -2 -1 -2 -1
7 4] 2 1| 2
Function or Not a Function ~ Function or Not a Function Function or Not a Function

Homework is continued on the next page——— >

ge. petermine whether

Vv

Q



7) ‘ 9) ‘4»
g i
H—q—s-o--o-H-o—v
4 -4 - RS 2 4
-2 -
—~ J“t
-4
Function or Not a Function Function or Not a Function Function or Not a Function
10) ~ 11) 12)
2 - 21 100 50
e 25 == 20 100
s - 30 300 150
\
Function or Not a Function Function or Not a Function Function or Not a Function

Representing Relations: Express the relation as a table, a graph, and a mapping. Then determine the domain
and range. Determine whether each relation is a function. [z_n} F Nh—"—‘*

13) {(0,4), (=4,-4),(-2,3), (4,0)} and m’y W ek #—s onee

DT
o 0 B R W ; e

e P A b

bbbl

-

Domain: Range: Function?
14){(3,-2),(1,0).(-2,4), 3, 1)} of
X y l 3
:- RN EN >
02 5
W R
Domain: Range: Function?

Raed



Linear or Nonlinear

Circle the correct response for each.

1) linear

or

non-
linear

4) linear

or

e

.-

Equation: i1t

he relati

intercept form or [y =

‘ mx+bj

2) linear

or

|

hraight)

(s
Graph: if the relationship is represented as a graph, the

or

non-
linear

PEoE

Circle the correct response for each.

1) linear

or

or

non-
linear

y=x3—l
T

=%
=3

Y’z.

3<!inear ) 4
or
o x
X non-
linear |
L1 6)linear 4
or L
x ) x
-

Ip is represented as an equation, then try to write the equation in slope-

xﬁ’

VX

| To be linear....
_NO exponent with the variables
NO square root with the variables = \\sm

2) linear

or

5) linear

or

non-
linear

| % ] NO absolute value bars around the variables
it NO variable in the denominator.
X
y=4x249 3(Iinear ) |y=06x
or
non-
linear
7 et ! T - =8
y=x 6)linear y=3+5
or

non-
linea




" Table: i the

relationship is repre
the table. If 1 Sl

+2
+2
+2

€ rate of change is constan

.

35

20

@ O’&[

5

Asxilmasesbyz,ydecreases
by 15 each time. The rate of

change is constant, so this
function is linear.

Cirqle the correct response for each.
5 +5 +5
@ s [10] 15
o 16 12 8
non- e M L
linear
- +3 43 +3
3 6 9
or
-39 121 33
.@ +T +12 2
& m = B‘ = ‘—{
<3
Practice.
nonlinear function. E_leain.
1 2 3
3 6 |10
3. T
) X
-
5. y=3

as a table, then the rate of change must be the same through
t this is called the slope in a linear relationship.

N
1

B3 ) +15
41 16

+3 r—-7 ® +33

+3(F—1+—1.) +5]
10 | 100

As x increases by 3, y increases

by a greater amount each time.
The rate of change is not
constant, so this function is
nonlinear.
2) linear tZ R
EEER I
St yl!ol 28 18
+2 +6 +lo
. +3 +4 +2
4) linear | 1 f4*8§lo
or | Width(n) | 64 16 8 64
T8 =@ —-|.Ce

Determine whether each table, graph, or equation represents a linear or




On your own:

Determine whether each graph, equation, or table represents a linear or
nonlinear function. Explain.

LTI B TT S ITTRTI
‘ CEEREL
, Y lol]
1]
o X o I
\‘ 7
dy=3+1 B.y=24+10 6.y=8x
7.y=6 8.2r—y=5 9. y=x*+4
10.y + 42— 1=0 11.2y — 8+ 11=0 12.y = V3x — 2

Bon “ I

—4
o 12| 3 15 | -2
3| 2 18| 6 | ol o
sl 24 | 10 s | o

Faxe b



